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AHAERT 98 117 119 236 IHTHN 11,958 11,796 13,004| 24, 800|%kHET T H 154 159 119 278 F RHHRT 542 682 TAT| 1,429
ARYHT 214 199 221 420 FEIT=TH 138 131 122 253|  KIEHIX 3,178 4,020/ 4,151 8,171
JEBT 359 335 377 T12| 5 EHT 249 286 304 590 FxMTIU T H 76 55 61 116
B 521 568 589| 1, 157|fRiENT 3,522 3,874 3,929 7,803 AHFHHX 9,622 10,596 10, 059| 20, 655|F AT 324 457 471 928
b LT 312 314 339 653| FrifrT 191 208 233 441 A ET 201 295 316 611
FE M 284 259 260 5197 T 513 537 562 1, 099 Hr T 1,037 1,344 1,379 2, 723|151 — T | 659 810 927 1,737
)1 ET 119 123 127 250[TART 3,288 3,630 3,712 7, 3428 H AT 362 435 463 8984k ILIET — T H 228 274 297 571
KAGHT 603 588 615 1, 203| HRHAT 3, 082 3,510 3,635 7, 145(H 2 mT 1,661 1, 850 1,999 3, 849 AR/ N ET 622 783 827 1,610
$RmT 17 14 18 32| T 554 636 631 1, 267| H iy 921 1,146| 1,126  2,272| L4 mT 1,432 1,827 1,977 3,804
FSHT 53 50 59 109 BT 1,254 1,501 1,542  3,043| #HemRHX 3,981 4,775  4,967| 9,742| FE/\iEHuX 3,466  4,446| 4,815 9,261
b= T 221 246 287 533| KARHT 157 161 180 341
drisET 80 64 64 128| A YRT 346 436 485 921| H- BT 2,636 2,986 3,095 6, 081|% ELET 451 496 555/ 1,051
JUREHT 111 101 118 219| ERIT—T H 333 408 424 832[ K\ AHT 1,026| 1,233 1,170| 2, 403|ZEIGHT 273 369 379 748
HHET 148 106 106 212\ HHRET T H 444 493 495 988| /1N J\AHT 1,169 1,428 1,431  2,859|H % MHET 741 841 866 1,707
TREHT 77 57 81 138| ERIT =T H 436 492 508 1, 000 | IEA& <FmT 400 491 541 1, 032 HH BLmT 187 247 239 486
FFIHET—T H 157 147 179 326 HUEIRETIU T H 286 368 411 TT9|FEETE —T B 44 45 16 61| Hmy 1,005 1,283 1,371 2, 654
FRIHET T H 119 134 132 266| IFRMIX 14,655 16,540 17,051| 33,591|REMTPE —TH 105 113 93 206 #f EHT 591 781 812| 1,593
FFIHET =T H 123 140 148 288 fErT—TH 245 221 270 491 HEHIX 3,248  4,017| 4,222| 8,239
FRTHETY T H 145 176 183 359| A1 JFLHT 3, 547 4,089  4,246| 8, 335[[MmAT T H 33 33 35 68
A FalT 443 450 511 961 T —T H 269 300 337 637 =T H 16 14 15 29| AP IT 5,361|  6,348| 6,494 12,842
=F: L 22 15 23 38| TR T H 561 638 711 1, 349( =AY T H 120 125 118 243 JFHT 166 223 249 472
iy 168 167 193 3607 Rl =T H 846 896 979 1, 875|ULMT 1,789 2,153 2,217 4,370 AEEFHX 5,5627|  6,571| 6,743 13,314
=R 45 30 46 76| <5 RHT 1,753 1,813 1,987 3,800] HJIHX 7,583 8,842| 9,001 17,843
T 179 155 188 343| FEfHAT 1,436 1,570 1,647 3,217 RIRHT 404 529 567 1,096
RILHT 498 527 550 1, 077|ZLpHT 178 192 210 402( 4 HHRT 467 516 603| 1, 119| 5t HHET 473 555 577 1,132
(=) 39 32 35 67|\ FRHI—TH 473 523 503 1, 026 Al I 2,145|  2,538| 2,503 5, 041| k& EFHT 540 677 621 1,298
fEFHET 85 71 86 167[ )\ TARIT =T H 350 366 407 773 PR EHT 216 288 315 603 75 5 HT 126 159 140 299
HEAHT 41 40 45 85|\ FHRET=TH 420 475 505 980| & 5 1,040 1,235 1,330| 2, 565|#KFHT 513 725 736 1,461
FHET 255 240 243 483\ FARETIY T B 382 436 499 935 | fIRAT 482 592 607 1, 199] 4 HT 349 428 397 825
f=Lg 175 187 186 373 R X 10,215 11,298 12,031| 23, 329|HTE=HT 367 395 466 861|Jt 4T 480 621 633 1,254
T bET 582 625 657| 1,282 J\ T 2,054 2,566| 2,645 5,211 5, EHX 2,885  3,694| 3,671 7,365
R T 33 33 26 59| b Epmy 2,155  2,522| 2,631 b5, 153|F5 HET 120 170 171 341
ST 527 520 582 1, 102|{&=BFERT 33 37 48 85 I\ H1X 6,891  8,300| 8,640 16, 940| LjHT 239 344 338 682
FRHT 26 29 32 61 - EmT 3,345  3,812| 3,673| 7,485 TERETHT 132 188 188 376
LT 194 175 183 358 AL A ZEHT 346 419 472 891 b fi] W] 1,163 1,443 1,468|  2,911| F75 HHET 136 206 195 401
JEET 185 166 203 369| 2HT 627 636 666 1,302 & ET 1,807| 2,148  2,229| 4, 377| FuEHT 367 487 464 951
AT 367 352 386 738 AP HT 1,104) 1,363 1,345 2, 708 [y 789 946 981 1, 927| 5 My 280 432 418 850
R AT 39 34 44 78| T2 3T 1,312 1,670 1,726 3, 396|dt/AfRET 403 456 518 974| VHREFHT 353 405 372 777
AT 1,586 1,635 1,816 3, 451| FHJEHT 896 1,148 1,131 2,279] Bl Hh X 4,162 4,993 5,196 10, 189[/\i%FmT 302 414 450 864
fi FE T 213 213 243 456 1% PERT 400 480 484 964 ) | 1 (X 1,809  2,476| 2,425 4,901
icLZLig 123 131 155 286(HfEmT— T H 479 576 523 1, 099|7hHT 466 587 573| 1,160
F T 166 150 157 307| BT =T H 1, 404 1,511 1,800 3, 311|45HulT 420 554 532 1, 086 A HIMT =/ £ 481 661 648 1,309
‘= IehT 196 185 249 434 HERT =T H 593 683 745 1, 428| AL HT 151 212 197 409| A vAIRT HE FH 428 574 571 1, 145
Amy 186 161 200 361 HERTIUT H 600 708 720 1, 428|417 7107 132 179 185 364| B BT KA 168 243 244 487
JEAHERET 58 52 28 80| W HEmT 850 979 999 1, 978|111y 1,125 1, 449 1,515 2, 964 A PHIITSE K 118 156 165 321
A1) 351 362 439 801|FnHHZ HHHT 555 609 545 1, 154| g 357 453 494 47| B AT 7 345 428 459 887
)1y 243 183 260 443(  fEEFHIX 14,699| 17,153 17,508| 34, 661|%sRHT 429 545 568 1,113 AKX 1,540 2,062 2,087 4,149
1L FHET 112 107 109 216 Figeny 231 311 322 633
S1) 88 83 102 185| b/ gy 776 914 970| 1,884 EHX 3,311 4,290| 4,386 8, 676|5EARHTPEH] R 714 906 987| 1,893
Pu > T 38 44 41 85| /Nty 444 570 636 1,206 FERHT S BT 85 108 124 232
el 42 54 49 103 kAT 2,831 3,012| 2,665 5, 677 ERJEAT 1,116 1, 321 1, 350 2, 67 1| FEHPHTHAZ IR 336 225 205 430
G mT 77 82 74 156 /N EHT 2,085 2,299 2,176 4, A75|f5 KA 278 390 400 T90| EEABHT 5K J5 859 1,184| 1,213 2,397
JHIAERT 237 240 274 514| T/ gHT 1,488 1,609 1,551 3, 160| LLiriT 606 811 832 1, 643 | FEHRmT HH = 396 549 558 1,107
FEHAHT 408 359 405 764| HUARET 1, 364 1,603 1, 568 3, 171 FRIFHRT 419 555 557 1, 112| Z4RRT 2 1,218 1, 562 1,630 3,192
i FH T 170 169 162 33 RkIT—TH 266 244 191 435| FP AT 217 261 265 526 FEAPHT T 689 941 978 1,919
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M [ 329 504 502 1, 006| M7 J7 1L 194 296 273 569
FEHRMT 202 298 293 591 & FHITAHR 445 615 606 1,221
FEPRETFT A (L 145 199 220 419 & HETH) 1 271 361 347 708
FEHRMT )1 411 540 579 1, 119] % FHmy 502 738 686 1,424
FEYRIT P 6 5 9 14| & HHT % 1 398 559 589 1,148
FEHRMTAAAIR 829 1,185 1,205  2,390|HEMT % H] 97 150 159 309
FEGRET A i 1,511 1,959 2,045 4, 004| 7 HETE 31 46 50 96
PR HE X 7,730| 10,165 10,548| 20, 713| & HET AR 289 419 434 853
EEaalp: 210 196 235 431
Sl ET 3,246 4,182 4,330 8, 512|FHHETHA 39 63 58 121
paislag 1,438 1, 808 1, 968 3, T76] &5 HHT IR 13 13 19 32
5| FE T 419 567 625 1, 192| HIHRT LR 370 531 544 1,075
3=t 1) 145 203 211 414| EHBTHRR 40 58 72 130
T faf v ] 237 280 272 552| & H-ET 1 128 178 167 345
77K T 73 112 111 223| EHMTH S 132 205 213 418
% JE[RIET 68 98 107 205| 5 HET/NER 341 471 481 952
B S HT 175 266 269 535 & HHT L AE 105 162 183 345
V5[ 5y HT 215 316 309 625| & HRT I 167 225 212 437
b Iy 327 382 379 T61| & T/ 208 314 312 626
T e AT 2,982  3,937| 3,827 7, 764|FE T 531 739 715 1,454
AT 1,129 1,402 1,416 2, 818| HFHATEIMEE — T H 324 400 427 827
=AY 651 882 885 1,767 EFHMTEBE T H 354 443 485 928
R AT 1,305/ 1,606 1,598 3, 204|FFHETEEEAE =T H 254 353 344 697
[iZ1=1a) 1,085 1,393 1,336 2, 729| 5 HEHT 1% 283 427 433 860
rh ELET 398 511 544| 1, 0557 HMT T ELE 93 129 142 271
PR T 578 772 802 1, 574) &5 FRM] L BLSE 140 199 197 396
FEHET 486 611 676 1, 287| AT O 59 92 93 185
RER X 14,957 19,328 19,665 38,993 #HFHX 9,106 12,474| 12,694 25,168
iy 5,479 6,266 6,409 12,675
T b X 5,479| 6,266 6,409| 12,675
R T 1,160|  1,546| 1,662| 3,208
rh = AT 953 927|  1,116] 2,043
S AT 453 629 617 1,246
B4 LT 116 70 97 167
R4 IHIRT 43 42 65 107
R ERT 356 534 547| 1,081
LT 883 1,183 1,252| 2,435
o L LT 658 911 911| 1,822
- HLRRT 984| 1,319 1,375 2,694
AT 855 1,182 1,178 2,360
e T 678 934 963| 1,897
FaHT 179 230 261 491
+- 3T 196 288 263 551
B PRHT 328 480 471 951
=Y FRET 105 141 140 281
[URLa) 120 165 167 332
R4 X 8,067| 10,581 11,085 21,666
E R 619 794 803 1, 597
IR E IR 1,156 1,425 1,466 2,891
E R RAR 218 311 328 639
IR RAR 953 1,344| 1,400| 2,744
2 HEET/M 142 218 221 439 w A E 154, 069| 184, 683| 190, 358| 375, 041




